Problems for Section 6.1

1. What is the average value of the function f in Figure 6.4
over the interval 1 <= < 67

Figure 6.4
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Section 6.1

1 1.7
32
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7 About 8.5
9 (a) $26,667 per year
(b) Less 25-65; more 65-85
11 $6080

13 (a) 120 mm Hg
(b) 80 mm Hg
(¢) 100 mm Hg
(d) Less

15 (a) 0.375 thousand/hour
(b) 1.75 thousands

17 (a) 9.9 hours
(b) 14.4 hours
(c) 12.0 hours
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(b) $1531.20, $1963.20
(c) $3494.40
(d) $291.20/month

21 (c) < (a) < (b)

Section 6.2

1 (@) p* = $30,¢* = 6000
(b) Consumer surplus = $210, 000;
Producer surplus = $70, 000

p ($/unit)
100
| "Nt
.
s0 | Ebe] S
L L1 < = 12
e ¢ i
] (quantity)
5000 10000
P ($/unit)
100 g
e
S 2
50 SS=SESTE

1 (quantity)
5000 10000

3 250
5 200

7 (a) Equilibrium price is $30
Equilibrium quantity is 125 units
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(©) $1907
(d) $1600
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(b) Can’ttehh
(c) Less
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